R 5

Problem 1

ETE
U P(n) A nl < n, ko BAT 1 I

a) findl P(2) 247

b) UL P(2) NE, S8 BRI UL .
c) NS A7

d) FEEAA IR VR 2R A A7

e) SEIHAAL IR,

£) RN 2 R n @ —A KT 1 AREL, a8 Bl i DAUE A 255X

Problem 2

JHSRIAEAAERT: TR AR n, FFTEAREL o, b W2 5" = a® + V%,

Problem 3
O RPN V2 RCHE. (HoR: B V2 AR e
Problem 4

a) Z T ELLER s B 1 AT BRER ones(s) IS E L.



b) HEEAIAGNTEIERT ones(s - t) = ones(s) + ones(t). ( HH st ForiL
s FINCER ¢ 19IES: )
Problem 5

Boa 5 b NIRRE, IR Q MIEIHE AT s

0, a<b
Q(a>b>:{
Qla—0bb)+1, b<a

a) 3k: (1)Q(2,5);(2)Q(12,5).
b) B%L Q ML ZAT AT 3K Q(5861,7).

Problem 6

KEEH 0 (0> 5) FLA 000 FFAASELA 111 £S5 dhile 2 A4

Problem 7

(EOitkA I BELRSTLIEIIN /RN

Problem 8

WA 8 FIR GG T R E, 5027 AT 5 [ TR e/
IR AR E SR, WA ST, £ 10
BT T

Problem 9

— A BEE R T A LB 9 & B
a) HZ/PMITMNAE 5 A& BRSPS 20 1 2L 5n?

b) A Z LI NP 5 AMZE RS EE R 1 Z LB
201 ZHEIN.



Problem 10

e V= BIATTR N R SRS Bk DRI AR O 2| T B AT TR NS R WAE )= A ]
B A FH R, SR H e A A . A2 Ry
%

a) 12 ANH H IR ?

b) 36 4~ A A7

c) 24 MBI, HHEDEIA 247

d) 24 ASEUEEAL, FF HAVEDE 2 MR ?

e) 24 MFHIKIEG, HHED 5 ATy i HEd 3 A7

f) 24 AMF AR, HFAED 1 AEER, 240 2 M8, 243 4
TRy, 2 1A, 24 2 ASERIAIA D 3 MBRAY?



